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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks) ‘
1 (a) A man wants to marry a girl having qualitics: white complexion- the probabf'lil‘)’ [03) CO3' L3
of getting such a girl is 1/20; handsome dowry- the probability of getting this is
1/50; manners and style- the probability here is 1/100. Find out the probability 91
his getting to such a girl when the possession of these threc attributes 1S
independent.

(b) Outline the case by using Binomial Distribution. [07] CO3| 1A
In a large consignment of electric bulbs 10% are defective. A random sample of
20 is taken for inspection. Find the probability that (i) All are good bulbs, (ii) At
most there are 3 defective bulbs, (iii) Exactly there are three defective bulbs.

() Examine and Obtain the straight line trend equation for the following data by the [10] €04 L3
method of the least square: |

Year 2014 2016 2017 2018 2019 2020 2023

Pdn | 140 144 160 152 168 176 180

2(a) From a pack of playing cards, one card is drawn at random Calculate the [03] ! ( 03, L3
probability that it is either a Queen or a club. ’

(b) Solve the case. [07] {CO4 L3
A random sample of employees of a large company was selected and the
employees were asked to complete a questionnaire. One question asked was \
whether the employees were in favour of the introduction of flexible working

hours. The following table classifies the employees by their response and gender |
i.e., male or female.

Response Gender
Male " Female
In favour 57 83
Not in favour 33 27
Test whether there is evidence of a significant association between the response
and gender.
(¢} Outline the case. [10]

An automatic machine fills in tea in sealed tins with mean weight of tea of 1kg
and 8.D. lgm. A random sample of 50 tins was examined and it was found that
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their mean wWelgtht wins 00950 s, Tv the mnchine working properly?

ta B A e viilie
() Tnter the tetm Hypothesis (03] O o3

b 8 arlen e \ ) ”
(0 Swnmaiire the datn and compute 4 yently moving ayvernpes from the following [07] €04 L
data
Yem | 2004 I 2018 l 006 3017 1008 | oo

r

2020 | 2000 | 2002 ’ 2073
J

tdn | 2 0 A 5 |1 4 2 # 9

(©) Judye the case, o] cod 15
Electric bulbs "‘_f‘!?!‘"“}"}‘[’g‘([!‘\’ Xund Y e ompanies gave the following results:
R ———— | \ ( nmpnny o Y(,()n‘li;nwi'
Norofbulbs sl | g gy
Mean e i bowrs | g5 | g
S.Din hours B D) — r R—

U-“"L} th.c_sldnd ard error of the difference between means state whether there is
any significant difference in the mean life of the two makes. x

Part B - Compulsory (01*10=10 marks)
4 Case Study

Analyze the case given below. [10] E‘(f'(")’él FA

In'a test on 2000 electric bulbs, it was found that the lifc of a particular make was :

normally distributed with an average life of 2040 hours and S.D. of 60 hours.

Estimate the number of bulbs likely to burn for (i) more than 2150 hours, (ii) less ;

than 1950 hours and (iii) more than 1920 hours but less than 2160 hours.

r e e e
{ Course Outcomes (COs) S 3 :
I i s n‘ “‘ I
| Co Undl.rsmnd how to organize, manage, and prcsent the dqta. {
e — B .
| Co2: l Use .md npply u Wldc V'mety of specific smhsucal tools } i [
G “ BEREES et e e e =t —
, CO3: | | Understand the applications of probability in business. 1b, 1b, ! l
i | 2a 2 ' i 1
J e SV USRS SRS WO
2 3a, | ley
- lc, 3% | 3, f, 1
CO4: ' Effectively interpret the results of statistical analysis. 2b, 30’ | 3c, | 2b ! 4
| 2 : 4 A
S S S L — S S——— I _m._,_i_,E?._“, I
' Cos | Dcvelop ‘competence of using computer packages to solve the i ! | P
. | problems. _ ! { :
Cognitive level| ~ KEYWORDS ' T
e e S—
ch[;clmber list, define, tell descnbc recite, recall, identify, show, label tabulate, quote, name, who, when, where, etc.
L2- le descnbc, explam, paraphrasc, rcstate, assocmtc, contrast summdnze dnffcrentnate mterpret dlSCllSS o ) o
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